FEI0EEBEWMEIT LRIy h—1)—T3HIFA2BAK 040,50, 60 Uy H—REEHEFE BEX (202 3%)

BIEIERE (37U —7Y) BIE: 202349H23H
0-40: 24 L—TFA: 7 -B: 6F—L, 0-50: 1 1F—L, 0-60: 6 F—L, 0-65: 3F—L SR 2023411198
g B | #& [ A xT B BERUTEH 4 =15
@ [40B] 9:00[40% ) v LtrEL v b 2 1 [40FC35o 5= A0JETILE—X 1
@| 50| 10:10[50% PE+22SC 2 0 |50Pgcoms = 7 SO0DREAM  MIYAGI iR T v kt—
4/2 | ® [40A| 11:20[404kET L H— X 1 3 |40BOSCOALA 0% Y YLIRER Y Y jprers—pP2
1] (B) |@]| 50| 12:30/50DREAM MIYAGI 1 1[50 #8FC B0E 19 PU 12 SC 1](8:00-17:00)
® |40A| 13:40[407 s pm+22SC 0 1 [40=m#T Y57 40EK S = FFC 1
®| 50| 14:50[504tpE T IL 4 —X 3 1 [50FC35s # H < 50K #BFC 1
@ |40B| 16:00[402:k s = 7FC 0 0 |40EPOB 40E1HiPI+2SC 1
@ [40a] 9:00[40TGH > T =7 2 1 [40PAPASALIE 0L - kSvhk-TFYa 1
@ 60| 10:10[60% 1 VILRES v 1 1607 z=y s 2SC J |60EWmEHKTY ST BT v kA—
4/9 | @ |40B| 11:10{40L - kS k - FUa |0 2 |40KIBFCY =7 40Pgcoms = 7 e 2—pP2
2| (B) |@] 60| 12:20|60m KTy ST 2 1 [60E s +22SC 60< U VILIMER v Y 1](8:00-15:00)
® |40A| 13:20[40Pgcoms = 7 0 2 [40mmEIHRT Y S T AOKIEFCS = 7 1
@ [40a]  9:00[404kEET L H—= 2 0 |40Pgcoms = 7 AOPAPASALG 1
@| 50| 10:10(50mHEKTY S5 T 2 0 |50EPOB B0 U YILIME R v Y e T v kt—
4/16 | @ [40A| 11:20[40E 35 pa+45C 2 1 [40PAPASILG A0JBETIL AL — X o|vtv a2 —P2
3| (B) |@] 50| 12:30[50% 1y ViLiES Y 6 05087 T-ws 2SC  |[F0EEMIKTY S T 1](8:00-17:00)
® |40B| 13:40l40&%> = FFC 0 2 |A0KIBEFC> =7 4075 1 P +#SC 2
® | 50| 14:50|50/=48FC 0 050L - kSv b 7rT4[00EH 7=y %5 XSC 1
@ |40B| 16:00[40% 1) VILIRE S v 5 2 0 |40EPOB 40K = 7FC 2
@ | 50| 9:00[504kEET L Z—X 5 1 [50EPOB B50FC35% 7 # < i
@ 60| 10:10[60% i ra+22SC 3 1607z =v s xSC J |65FC3BLAH~ b ¢ HBH v
4/23 | ®| 50| 11:20|50% #Pa+#SC 2 1 [50FC35s # H < 50EPOB 1|7 —%C
41 (B) |@] 65| 12:3065% 1 VIiLES v 3 1 [65FC35s # H < 60EW 7T =w 4~ 2SCJ | 1/(8:00-17:00)
® | 50| 13:40[50Pgcoms =7 1 1500 - RS>k - 727 1 |50E P+ £SC 2
®| 60| 14:5060E=H 7=y~ RSC S |2 0 |60FC35% A+ H < 65< ) VILIEAR v Y 1
@ | 50| 16:00[50/HEFC 0 0 |50EmIKTY S T 50Pgcoms = 7 1
@ | 50| 9:00[{50DREAM MIYAGI 8 0507 =v 4 RSC  [HOEPOB 2
@| 60| 10:10(60% 1 VILRES v Y 2 1 |60 8o+ #SC 60FC35S A+ H < e T v kt—
4/30 | @ | 50| 11:20|50%= s pa+&SC 3 1 |50EPOB BOEH 7 = = w4 XSC o2 —P1
5| (B) |@] 60| 12:30[60mm 7=y RSC J |1 0 |60FC36% A H < 60'% 151 PU 12 SC 1](8:00-17:00)
® |40A| 13:40[40TGH> TS =7 3 2 |40BOSCOALE 0L - kSvk-FJya | 2
®| 60| 14:5060m KT Y S T 2 06087z =ws2SC S [0EHTT=ysRSCJ | 2
@ |40B| 16:00[40L - kS > k- FUa |1 2 40 U YLMEA Y S  [A0TGH YT LY =T 1
@ [40a]  9:00[40B0SCOML & 1 0 |[40EmHT Y S5 T A0FC35S A+ H < 1
@ 50| 10:10[504tBET L4 —X 1 2 |50% U VILHAE R w4 |GODREAM MIYAGI 2limne Ty pAR—
5/7 |®|40B| 11:20[40L - KSR FUa |3 0 |40FC35> * H = 40B0OSCOAL & Pz 2—pPI
6| (B) |@] 50| 12:30[50DREAM MIYAGI 3 1 [oEmET S 7 50dEBET L & — X 1](8:00-17:00)
® |40A| 13:40[40% i pm+22SC 1 D = AOKIBFCY =7 2
®| 50| 14:50[50= 4 7 = = v & XSC 0 1500 - RSk - 7o o4 |50EmERTY ST 2
@ |40B| 16:00[40KIBFC = F 1 0 |40EPOB 40E1HiPU+2SC 3
@ [40a]  9:00[40B0SCOML & 4 1 [40PAPASALE 40EPOB 1
5/14 | @ | 60| 10:10[60% ) VLt ESR w4 0 1 [60=m#HTY 5T BEE T T = v 4 RSC BTy kA—
(B) | ®|40B| 11:00/40EPOB 2 1 |40FC35> #+ H < AOPAPASAL A o8 —P2
7 @ | 65| 12:10[65= 7 = =v & XSC 1 1|65 viLiEay s |60EHRIY 5T 2|(8:00-13:00)
® 13:40
® 14:50
@ 16:00




@ | 50| 10:00[50=H 7 = = 4 &SC 0 2 |50 HEFC 50Pgcoms = 7 2
@] 60| 11:10[60E KLY S5 T 1 1 [60FC35s # H < B0EH T T=v s RSC S| |F&snmns
5/21 | ®| 50| 12:10|50EP0B 1 0 |50Pgcoms = 7 50 #EFC 2|77 FA
g (B) | @] 60[ 13:20|60=H 7=y~ RSC S|4 1160 7=y XSC J |60=iET Y 5T 3[(9:00-15:00)
@ |40A| 10:00[40PAPASILA 5 0 |40Pgcoms = 7 NEWHRTY 5T 1
@ [40B| 11:10[40%% > = 7FC 3 1 [40FC35> # H =< 40EPOB 20E&shs iy
® [40A| 12:10[40dkET L & — X 3 0 [40EHHKTY 5 T 40Pgcomy = 7 2|77~ kB
@ |40B| 13:20[40L - kS k- FUa |2 2 |40EPOB A0FC35> F H < 2|(9:00-15:00)
@ | 60| 8:30[60EmIKT Y S T 0 060 T T=w s RSCJ (607 VILIMESR Y 2
@ [40A|  9:30[40%E 8 Pu+25C 2 2 |40BOSCOALA A0FC35S A+ H < 3linE Ty b k—
6/4 | ®| 60| 10:40[60% 1) VILIRES v Y 3 0 |60FC35> 4 A< 602 43 PO+ 22SC o2 —P1
9| (B) | @ [40B| 11:40{40KMEFC =7 1 0 |40FC363 A+ H = 40BOSCOAL& 2|(8:00-14:00)
®| 60| 12:50[60EH T =y ZSC S |0 0 |60E= o +#SC 60FC35 A H < 2
® 14:50
@ 16:00
@ [40A| 9:00[40TGH>TLL =7 2 1 |40Pgcoms =7 0% Y YLIER Y Y 2
@ | 50| 10:10[50DREAM MIYAGI 1 0 |504tpE T L Z— X BOL - bTv b - TU74| meoy kA
6/11 | @ |40B| 11:20{40% 1y v LiaES v 1 0 |40KIBFCS = 7 ATGH > TILL =7 |2 —P1
10| (B) |@]| 50| 12:30[50mmitkT Y 57 5 0(50L - k5> k- 7> 7 |50DREAM MIYAGI 3|(8:00-17:00)
® |40A| 13:40[404tBET L 4 — X 0 0 |40PAPASALE 40K = FFC 3
® | 50| 14:50[50% i rE+42SC 1 050U YLIEA Yy  |B0EE#ITY ST 3
@ [40B| 16:00[40%%> = 7FC 4 1400 - FSU k- FUa [A0dEBETILA—X 3
@ p N 0
@ L 12:00%T DIJE-ICE=E J 0| ¢ B+ v
6/18 | ® o|7—%C
11| (B) |@]| 60| 12:30|6051Hmu+4SC 5 0 |60FC35> 4 H = BEEH T = = w4 XSC 2|(12:00-17:00)
® |40A| 13:30[40dtBE T L 4 — X 2 0 |40TGH > TV =7 40Pgcoms = 7 3
® | 65| 14:40[65FC35 # H < 2 4l65E T T = w4/ RSC |60+ S0 3
@ |40A| 15:40[407 5 mm+42SC 5 0 |40Pgcoms = 7 A0TGH VIS =T 3
@ [40A|  9:00[40PAPASALE 1 1 |40EmHT Y 5 T 40&K S = FFC 4
@| 50| 10:10(50mmEKTY S5 T 1 0B0EH 7=y s RSC  [50L - bTU b - TUTq| 2mfmaEsn
6/25 | ® [40B| 11:20[40< ) viLtaES v 4 5 2 |40&% > = F7FC NEWHZLY 5 T 2
120 (B) |@]| 50| 12:30[50kpET L4 —X 0 050L - kS k- 7oa4=|50% ) VILIRER Y Y 2|(8:00-17:00)
® |40A| 13:40[40Pgcoms = 7 1 1 |40B0SCOfLE 0T Y YLIRER VY 3
® | 50| 14:50[50% 1 VILIRE S v Y 2 0 |50Pgcoms = 7 504tfETIL & — X 2
@ 16:00 0
@ | 50| 9:00{50EPOB 0 2 |50DREAM  MIYAGI BOFC35S A H < 2
@ [40A| 10:10[40TGH > TL> =7 1 0 |40mMm#kT s S5 7 40 1HiPI+2SC ine oy rAR—
7/2 | ®| 50| 11:20|50FC35% #+ H < 0 0 |50 #EFC 50EPOB 3|2 —P2
13| (H) | @ |40A| 12:30[40&= 13 Po+22SC 3 0 |[40dtET LA —X AEWFKTIY 5T 3[(8:00-15:00)
®| 65| 13:40[65% 1) VILIMES v Y 2 2 |65FC36% A H < 505 #EFC 3
@ | 50| 9:00[50kEETILZ—X 0 0 |50 #EFC 50 % 43 PO +#SC 3
@ | 50| 10:10[50DREAM MIYAGI 1 0 |50Pgcoms, = 7 BOFC35 A H < 3|ah ¢ B+
7/9 | ®| 50| 11:20[50% 35U —+2SC 4 0ls0L - k3 k- 7o =|50dLBETILZ—X 3|7 —35C
4| (B) | @] 50| 12:30[50EP0B 1 0 |BOFC36% A+ H = B0 U YILIMER v Y 3|(8:00-17:00)
®| 60| 13:40[60% 1) VILES v 2 06087z -ws2SC S [50L - RS> h-F7rTq| 3
®| 50| 14:40[50m KT S5 T 3 1[50~ viLtsgs v s |50EPOB 4
@ [ Bl OHA #& |7 J 0




@ | 50| 9:00(50% ) ViES Y 1 1 [50EPOB 50tfE T L & — R 4
@ |40A| 10:1040TGH > T LS =7 4 0 |[40EmHT Y S T 40EHiPI+2SC Blup ¢ 1B
7/16 | ® | 50| 11:20(504kETIL % —= 4 1 [50EH 7 ==y~ XSC  |50EPOB 5|7 —45C
15| (B) | @ |40a| 12:30|40EHipu—+4SC 2 0 |40dtBE T L& — X NTGH > TS =7 4](8:00-17:00)
® | 50| 13:40[50DREAM MIYAGI 2 0 |5OFC35% #+ #H < BOE 7 = v 4 RSC 3
® |40B| 14:50[40PAPASILE 0 1 [40KMBFCY =7 A0FtET LA —R 4
@ | 50| 16:00[50% i rm+42SC 2 1[50 #8FC SODREAM  MIYAGI 4
@ [40c|  8:30[40EPOB 1 1400 - kS YR FUa |40Pgeoms =7 4](8:00-13:00)
@ |40A|  9:40[40dtBET L & — X 3 0 |[40EmHKT Y 5 7 40FC35% # H < 4 ‘
® [408| 10:50[40Pgcoms = 7 2 . 140U VULKABA VS  |40EPOB 3 fﬁ%f;ﬁ;ﬂ_
7/23 | @ 40c| 12:00[40253k 5 = FFC 1 1 [40FC35> < A0ETILE—R 5
" (B) | @] 50] 9:00|50FC355 # A~ 1 3 |50Pgcoms = 7 50JLRE T IL A — X Bline 5w kA—
@ | 60| 10:10[60% 1) VILIAESR v 4 2 0608 T w4 RSC J |60EMIKTY ST g8 —P2
@ | 50| 11:10[504tBETIL 4 —X 0 4 |50EmMIKTY S T 50Pgcoms = 7 3|(8:00-16:00)
@ | 60[ 12:20|60=mFHLTY ST 0 1 |60 15 a+2SC 60< 1) VILIAER Y Y 3
® | 50| 13:20[50% i rm+4£SC 1 0 |S0DREAM  MIYAGI BOEERT Y 5 7 4
®| 65| 14:30[65% 1 VILIRES v Y 0 1 65EHT =y 2SC  |60E I+ S0 4
@ | 50| 8:30{50mHrm+2SC BOEH 7t =~ ZSC |50L - hS k- FUT 4
@| 60| 9:40[60% T=w 45 ZSC J ME Ty b R—
8/6 |®]| 50| 10:40[50Fp2dRBDAR. SRS LEHALLIE, LMt 8—P2
171 () |@] 60 11:50[60% NV (8:00-15:00)
® | 50| 12:50[50% *AH<
® | 60| 14:00[60< A i S r=vHASC S
@
@ [40a] 9:00[40T6H > T =7 4 3 |40B0SCOMLE 0% Y YLIER Y Y 4
@| 65| 10:10[65% 1 VILIRES v Y 0 2 |65Em T T =w s XSC  |BOEBMIKT Y S T Bling 7w kA—
10/1 | @ |40B| 11:10[40% 1y v ILiAES v & 1 0 |40KIBFCS = 7 40B0SCOAL& gt Z—P2
18] (B) | @] 50| 12:20|50=Hmu+4SC 4 1 |[poEmET S T 50Pgcoms = 7 4](8:00-17:00)
® | 60| 13:30[60E 7 =4 ZSC S |0 2 |60E 15U+ #SC AOKIBFCS = 7 3
® | 50| 14:30[50= 4 7 = = & &SC 1 5 |50Pgcoms = 7 B0E 45 PU + £ SC 4
@ | 60| 15:40[60m KT Y S 7 2 0 |60FC35% #+ H < B0EH I =w s ZRSC S| 3
@ | 50| 9:00[50EH T = = 4 &SC 1 1 [50FC35s # H < NEHHKT Y S5 T 4
@ |40B| 10:10[40PAPASILE 4 0 |40Pgcoms = 7 40EPOB ine oy fAR—
10/8 | @ |40A| 11:20[40B0SCOMLZA 3 1 [40mm#T s 5T BOEH 7 = = w & ZSC g2 —P1
9 () | @ |40c| 12:30|40EPOB 2 1 [40FC35S + H < A0PAPASALE 3|(8:00-18:00)
®| 50| 13:40(50% ) VILRES v Y 2 0(50L - k5> k- 7> 7 «|50Pgcons = 7 5
® | 65| 14:50(65FC35% # # < 2 366Em T =w s ASC  |BOMSHEFC 5
@ | 50| 15:50[50Pgcoms = 7 0 0 |50LHEFC 50% 1) VLB R v 4 4
60| 17:0060EH 7t =v 4o RSC S| 1 060mm 7w ZSCJ [50L - RS> h-F>T4| 5
@ | 50| 10:00{60mmEIHTY ST 1 1l60mmzz=vs2SC S|50L - kSvk-FrT4| 6
@ 60 11:10[60% 1) VILIAESR v 0 1 [60E 3 PH+#SC 60T Y 5 7 blasshd sy
10/22| @ | 50| 12:10/50EPOB 1 050L - FS>k - 727 ¢|60EPm+£SC 5|77~ FA
2 () | @] 60 13:20[50= 1y vLMESR Y Y 3 1 [50FC35s < 50EPOB 6/(9:00-15:00)
@ | 50| 10:00[50% i rm+22SC 4 0 [50dLBE T L& — X 50Pgcoms = 7 bl snmnsy
@| 60| 11:10[60EH 7T =wv o RSCJ |1 0 |60FC36% A H < B0E 19 P01 % SC 5|77~ FB
@ | 50| 12:10[50m KT Y S5 T 3 2 |50Pgcoms = 7 50dEBE T L & — X 6/(9:00-15:00)
60| 13:20{A Y AEw ZilE 1 2 lhAYAEY T ES BOEHRT Y 57 6




@ [40A|  9:00[40E i Pu+22SC 1 1 [40BOSCOML& A0KISFCY = 7 4
@ | 50| 10:10[50DREAM MIYAGI 5 050L - k5> k- 7> 7 4|50Pgcomy =7 Ting sy rk—
11/3 | ® |40B| 11:20[40Pgcoms =7 0 1 |[40KMEFCS =7 40B0SCOL & g2 —P1
21 (&) | @] 50| 12:30[50% U VLB R v 4 0 0 |50 #EFC 50DREAM  MIYAGI 5/(8:00-16:00)
skoR| ® | 50| 13:40[40TGH > TS =7 1 0 |40dBET L #— R 40Pgcoms = 7 5
® | 50| 14:50[50dkBET L4 — X 4 2 |50Pgcoms = 7 B0 U YILIER v Y 5
@
@ [40c| 9:00[40L - S k- FUa |6 0 |40FC36% A H < 40EPOB 5
@ | 60| 10:10[60% 1) VILIAESR v 4 6 0 |60FC35% # H < BOEEM#KT Y 5 7 Ting oy kk—
11/3 | @ |40C| 11:10[408:% > = 7FC 40EPOB AOPAPASHLE g Z—P2
22| (&) |@| 50| 12:10/50m KLY S T 4 1 |5OFC35s o+ H < 0L - k3 bk-FUa | 3|(8:00-16:00)
o a| ® |40B| 13:20|40PAPASALE 0 3l40x U VILIRER Yy Y  |40FC3BL A AT 5
® | 65[14:20 |65 1) VILMAESR v Y 1 1 [65FC36 # H < 50 #EFC 6
@
@ | 60 15:00[60=im 7=y zSC S| 1 0 |60FC353 4+ H < 0= T =w s RSCJ | 4
@ | 60| 16:00[60% 3 Pa+2SC 0 0607 =4 XSC J [50EPOB Ting sy rk—
11/12| ® | 60| 17:00[60< U VLI ESR v 4 2 1 [60EmHTY ST 60E 7=y RSC S| 4fE¥F—P2
23| (B) | @] 50| 18:00/50EPOB 5 15087z =y s xSC |60 +2SC 6] (14:00-20:00)
0
@ [40A| 9:00[40TGH>TL =7 1 0 |40E=H5a+#SC A0JtRETILZ— R 6
@ | 60 10:10|60% 3 Pu+2SC 4 0 |60FC35> # A< 0L - ~F2b-FUa | Hpeoy kr—
11/19| @ |40A| 11:10]40B0SCOMLE 3 0 |40dLBET L #— R 40 O +#£SC gl B —P2
241 (H) | @[ 65 12:20]65FC36L # H~< 0 3|65& 7 = XSC ATGH Y TS =7 5| (8:00-16:00)
® [40c| 13:20[40%%+ = FFC 0 4140L - FS k- FUa |40BOSCOMLE 5
® | 50| 14:30[50DREAM MIYAGI 0 050% U VILIER Y Y  |40BHKL =TFFC 5
@ [40A|  9:00[40m 3 Pu+22SC 5 0 |[40Em#kT s S5 7 50 #EFC 7
@ | 60| 10:10[60EmHKT Y 5T 1 16087y 2SCJ [60EH T =v s ZSC S Lr%u%iﬁb/A
11/26 | @ | 50| 11:10/50EPOB 3 1 |BOE#BFC 5OFC353 4 H < 5
26| (A) | @] 60| 12:20]60= U VL ESR v 4 0 0|60EH 7= 4 RSC S |50EHm+2SC 6/(8:00-16:00)
® | 50| 13:20[50FC36% #+ H < 1 050L - hSY k- 7Y B0EM 7=y XSC 5
® | 50 14:30[50% 3 Pa+2SC 4 0507w 7 RSC  [60% U VILIRER Y Y 5
@ 9:00|F — L 1 0
@ 10:10 0
® 11:20 0
@ 12:30 0] (8:00-17:00)
® 13:40 0
® 14:50 0
@ 16:00 0




